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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Write the name of two molecules which play a role as a 

secondary messenger in signal transductions.

		  {g½Zb Q´>m§gS>³gZ ‘| {ÛVr¶ g§XoedmhH$ Ho$ ê$n ‘| nm¶o OmZodmbo Xmo 
AUwAm| Ho$ Zm‘ {b{IE&

	 (ii)	 Which amino acid has not D or L type of conformations. 

(Enantiomers)?

		  H$m¡Zgo A‘rZmoAåb D ¶m L àH$ma H$m {dÝ¶mg ^r Zht aIVo h¢?

	 (iii)	 Induced fit Model of Enzyme given by ........?

		  EÝOmB‘ H$m ào[aV {’$Q> ‘m°S>b {H$g d¡km{ZH$ Zo {X¶m?

	 (iv)	 Define opsonization.

		  Amßgmo{ZH$aU H$mo n[a^m{fV H$s{OE&

	 (v)	 What are physiological barriers to prevent infection in 

human body?

		  ‘mZd ‘| g§H«$‘U H$mo amoH$Zo Ho$ {bE H$m{¶H$s¶ ~¡ar¶a H$m¡Zgo h¢?

	 (vi)	 Why animal goes into hibernation? Give example.

		  OÝVw erV{ZpîH«$¶Vm ‘| ³¶m| OmVo h¢? CXmhaU Xr{OE&

	 (vii)	 In which organ payer’s patches are present?

		  {H$Z A§Jmo ‘| no¶a Ho$ n¡MoO (Yã~o) nm¶o OmVo h¢?

	 (viii)	What is gluconeogenesis?

		  ½byH$mo{ZAmo{OZo{gg ³¶m h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What are proton motive forces, how they play a key role in the 

production of ATP? Name the scientist who discovered them.

	 àmoQ>moZ dmhH$ ~b ³¶m h¡ Ed§ ¶h {H$g àH$ma go ATP CËnmXZ ‘| ¶moJXmZ 
H$aVm h¡? Cg d¡km{ZH$ H$m Zm‘ ~VmB¶o {OgZo Bgo ImoOm&

3)	 What is Transamination of Amino acids? Give suitable 

example.

	 A‘rZmo Aåbm| H$m Q´>m±gE‘rZoeZ {H$go H$hVo h¢? Cn¶w©³V CXmhaU g{hV 
g‘PmB¶o&

4)	 What are Iso enzymes? Write different forms of LDH and 

explain how it works.

	 AmBgmoEÝOmBåg ³¶m h¡? LDH Ho$ {d{^ÝZ ê$n {b{IE Ed§ ¶h H¡$go H$m¶© 
H$aVm h¡? dU©Z H$s{OE&

5)	 What is chloride shift? Why it occurs in RBC?

	 ³bmoamBS> {eâQ> ³¶m h¡? ¶h RBC ‘| ³¶m| hmoVm h¡?
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6)	 Why the secondary immune response is more important than 

primary immune response against antigen? Explain it.

	 àmW{‘H$ à{Vajm CÕrnZ H$s VwbZm ‘| {ÛVr¶H$ à{Vajm CÕrnZ (Bå¶yZ 
aoñnmoÝg) ³¶m| A{YH$ ‘hËËdnyU© h¢? g‘PmB¶o&

7)	 Explain following briefly :-

	 {ZåZ{b{IV H$mo g§{jßV ‘| d{U©V H$s{OE&

	 (i)	 Isotype (AmBgmoQ>mBn)
	 (ii)	 Reverse transcriptase ([adg© Q´>m§g{H«$ßQ>oO)
	 (iii)	 HLA (Human Leucocyte Antigen)
	 (iv)	 CD4

	 (v)	 CD8

	 (vi)	 Bursa of Fabricius. (~gm© Am°’$ ’o$~ar{g¶g)
	 (vii)	Mac (Membrane attack complex)

	 (viii)	Adjuvent. (ES>OwdoÝQ>)

8)	 What is the 4S and 3F Hormone system in Endocrine Gland 

System? How it regulates stress condition?

	 AÝVñÌmdr J«pÝW VÝÌ ‘| 4S Ed§ 3F hm‘m}Z H$m¡Z go h¢? Am¡a ¶o hm‘m}Z 
à{V~b (stress level) H$mo {Z¶{‘V H¡$go H$aVo h¢?

9)	 Discuss the precipitation & Agglutination Reaction of Antigen 

Antibody Reaction.

	 à{VOZ à{Vajr AZw{H«$¶mAm| ‘| AdjonU (Precipitation) Ed§ ñH$ÝYZ  
(Agglutination) {H«$¶mAm| Ho$ ~mao ‘| dU©Z H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Write an essay on classical complement pathway & its 

importance in Immunity.

	 {Magå‘V nyaH$ VÝÌ na EH$ {Z~ÝY {b{IE Ed§ BgH$m à{V ajm ‘| ‘hËËd 
H$m dU©Z H$s{OE&

11)	 Describe the structure & function of any 4 type of Antibodies 

with the help of diagram. Also mention that where papain 

enzyme act on Ig? (Immunoglobulin)

	 C{MV aoIm {MÌm| H$s ghm¶Vm go {H$Ýht 4 àH$ma Ho$ à{Va{j¶m| H$s g§aMZm 
Ed§ H$m¶© H$m dU©Z H$s{OE& gmW hr ¶h ~VmB¶o {H$ non¡Z EÝOmB‘ à{Vajr 
Ho$ {H$g ^mJ na {H«$¶m H$aVm h¡?

12)	 What is Reflex action? Describe the physiology of Reflex arc.

	 à{Vd¥{Îm {H«$¶m ³¶m h¡? à{Vd¥{Îm AmH©$ H$s H$m{¶H$s H$m dU©Z H$s{OE&



778

MZO-03 / 500 / 6 	 (6)	

13)	 What is the causing agent (Pathogen) of AIDS, Make a diagrame 

of it & describe the mechanism of Immunosuppression of 

individual who is infected by it.

	 ES²>g H$m ‘w»¶ amoJH$maH$ ³¶m h¢? BgH$m {MÌ ~ZmVo hþE {H$gr g§H«${‘V 
ì¶p³V ‘| à{Vajm VÝÌ Ho$ H$‘Omoa hmoZo H$s {H«$¶m{dYr H$m dU©Z H$s{OE&


